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Q1: - Find the inflection point of J il i) Jaldi aa o) (1) J)iged)
fx) =x*+12x3 —x

) ) 3 2_
@) (~6.£(-6)), 0.£(0)) few =1 xx2en

b) (=6,1(=6)),(6,f(6)) /(%)= 12 %"+ F2x= 0

|2 %(x 46)="7

C) (6,f(6)), (O,f(O)) X =0 ol x =74

d) (=6,£(=6)), (0, F(0)), (6,£(6)) R
U N T

Q2: - Find the inflection point of J cillaa i) Laldi aa gf (2) J)iged)
f(x) =2x3+9x% —24x—10is

z
Pray= 6 Xt \bx-24
PPy =12 x % \§=2

¢) (=3,79)

0 (-2

Q3: - Find the inflection point of J ke Bl aa g (3) J)igead)
f(x) = tan™'(x?)
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o7/ (-%) (7 () 1(x) = ML*)—M= o
(0 xM
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Q4: - Determine where the graph of the Al ) Jail G 98 Cpl 3aa (4) Jiged)
function f(x) is concave up. eV ) pha f(x)
f(x) =x*—6x*+2x+3

a) (—OO, _1)

(b)) (—e0,~1) U (1, e0)

c) (1,1)
d) (—OO, 0) U (0' OO)

b b abhhw b

Q5: - Determine where the graph of the Aall ) Jal & 58 ) 23 (5) I
function f(x) is concave up. SV 2k f(x)

a) (—,1)

(b)) (1, o)

c) (2,)

d) (3,x)
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Q6: - which one of the following is correct for Al Lagaua piiny L Lea i (6) Jed)

f(x). f(x)

a) Concave upward (—0.5,0.5)
Concave downward (—0,0) U (1, o)

b) concave upward (—1,1)
Concave downward (—o0,—1) U (1, )

c) Concave upward (0,1)
Concave downward (—o0,0) U (1, )
Concave upward (0, o)
Concave downward (—o0, 0)

Q7: - Suppose f is a polynomial function such Euag dyagan Ay £ ol (7) J) g
that
f[(=3)=0,f"(-3)=-25

//
@f(—?)) is local maximum. i//”’) B f -»<L o Wwerk

b) f(—3) is local minimum W as

c) f(=3) is absolute maximum.

d) f(—3)isabsoluteminimum.

Q8: - what is the coordinate of inflection point s (Al cilkai¥) ddaii i) a3 9l (8) Jlgead!
where the function change from concave down  Jad) 1) 285 (a0 jali (e ddlAl) dsta Ladic
oncave dowr

to concave upward Ao A e
- f(x) =cosx—sinx for0<x<2m

?Zx): =5 R = (o5 A

£/x) = -coxarmazo =y  cr= T
X = ) oV x: \7"___%“
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Q9: -Find the interval where f(x) O Caale 1) S ekl ¢ 38 aa ) (9) Il

will be concave upward If
@z x? —4x-5,

F’(w)-. 2hk-Y=o
2X= Y

(2, ) .

c) (=%, =1) U (5,)

d) (—0,—1)U(2,00)

Q10: - The graph represents f"'(x) Jiar g Al a ) o adie) (10) I !
Find the interval where f (x)will be A el < 38 3 gl £ (x)
concave upward
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Q11: - The graph represents f''(x) Jiay A Al an ) o adie) (11) J)asad)
Find the inflection point cilaa ) LSS aa ) £ (x)

Graph Limitzd School Edition

a) (2,0)
b) (—4,0)

Q) @2 f2)

d) (=4, f(=4)

Q12: - If the graph of f(x) has inflection F(x) Al Sl s )l GIS 1Y) (12) JVismad)
point at (1,-2) find the value of aand b bs a (e S dad 2al((1, -2)) e
f(x) =ax3 —6x%+bx—17

y) 2
f(x)< 30 v =12 %+b

[Fer) = 6%

cpy= Ay €T b(n-F= 72
oa -6 + b-3=-2
Q+p_\v= —2
O tp =1\

PTi)y= san-2=0
0= \2

= aip=\ — 2+b= \&

age ales MY
https://t.me/+vin4wuNV2B83NDAO http://www.youtube.com/@imaths2022
6



https://t.me/+v1n4wuNV2B83NDA0

Q13: - Determine the intervals where the AR ) by B el o 8 sas (12) I
graph of the given function is concave up O JS o Cilland¥) Jaldl aaa o JaudU

and concave down and identify inflection adul) J) sl

points.

1) f(x) =x*—6x*+2x+3

Tl = unbs 12 4ys

:ﬁzc/y> = |2¥ =12 —o
T Cx*~1) = o
y—_'—-
o \k_,_%
/fo)

U

Cdl"Cav\/Q (/\]Qwuf}\ C-ao 4_l> U(\"O@)

Q./dV\CQ\/ﬁ &U\A}V\\'JW\/» Q{-—’] ()
7

{

WHlecron Points (<L, 0¢)) (1, PCy)

2)f(x)=x+§ - %f(;@
f/(’x): |-~ °

-
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3) f(x) = tan~1(x?%)

, 2% X

Fx)= \-\-('x’)" BFE.S

LaCuep) - 2a U)o,
O+ x*)

2v2xt ! 2. Jx

F+a9*

:f,’('x) s

4) f(x) = xe™**
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Q14: - Find all critical numbers and use asl) Slay 4l ddidal) JLAA) aaddu) (14) J) )
the Second Derivative Test to determine e JS £ 9 daa g dalaal) (5 gualll
all local extrema.

1) f(x) = x*—-8x*+ 10
L 5
£ =ux -x =o
Yx(X'-qy=e — X =0

i <2k 6

51641: 22 >0 NN
PCs) = —1€ <~ oy
[7/(/@):37_>3 \NGRYN

2) f(x) = xe™
/ - X _\ X —X _X
f@):\ﬁ *%(Iuc>1@ — %€ J)=o=) e (\-)=7

A K=

% -X —A -¥ X
'/Y/QX):?€ ”C/\,€—k(‘ye >>:~€Xr_€—x4 $€X1~1;~+%;K

l/
Y OUYE =56 L 6 pan

x2-1
3) f(x) = — =

tpre e
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()\}\(JQ/;W& X=" Q
2t

https://t.me/+vin4wuNV2B83NDAO http://www.youtube.com/@imaths2022
9

age ales MY



https://t.me/+v1n4wuNV2B83NDA0

